890 Pk

2 AT RE R TT

4

(6x— D)(x—3)(5x— 3)

3x+ (2+6x)(5x+ 5)(3x+ 6)

(2x + 5)(2x% + 2x — 1) — (4x + 2)(5x + 6)

(3x — 5)(3x% + 5x + 5) — (6x + 5)(3x + 6)

(5x+ 2)(3x + 4)(2x + 3)

H #A:

o
=

(3)62 +4)(x+5)+ 3+ 5x— 4

(4x + 3)(5x% + 2x + 6) — (2x + 1)(5x — 5)

(x— DH(x—4)(2x+ 6)

(6x° + 6x+6)(x + 1) =2 x 3x+ 1

(2x+ 5)(4x—3)(2x + 2)
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890 Pk

2 AT RE R TT

4

(6x— D(x—3)(5x— 3)
30x° — 113x° + 12x— 9

3x+ (2+6x)(5x+ 5)(3x+ 6)
90x° + 300x% + 273x + 60

(2x+ 5)(2x% +2x— 1) — (4x + 2)(5x + 6)
43 — 6x% — 26x— 17

(3x— 5)(3x% + 5x + 5) — (6x + 5)(3x + 6)
o — 18x% — 61x— 55

(5x + 2)(3x + 4)(2x + 3)
30x° + 97x” + 9dx + 24

(3x% + 4)(x + 5) + 3x° + 5x — 4
3+ 18%% +9x + 16

(4x + 3)(5x% + 2x + 6) — (2x + 1)(5x — 5)
20x> + 13x* +35x + 23

(x— DH(x—4)(2x+ 6)
2% — dx® — 2x + 24

(6% + 6x+6)(x + 1)—2 x 3x + 1
6x° + 12x° + 6x + 7

(2x+ 5)(4x—3)(2x + 2)
16x° + 44x* — 2x — 30
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